

7. ANOTHER DETERMINATION OF COEFFICIENTS.

Objekttyp: **Chapter**

Zeitschrift: **L'Enseignement Mathématique**

Band (Jahr): **8 (1962)**

Heft 1-2: **L'ENSEIGNEMENT MATHÉMATIQUE**

PDF erstellt am: **24.04.2024**

Nutzungsbedingungen

Die ETH-Bibliothek ist Anbieterin der digitalisierten Zeitschriften. Sie besitzt keine Urheberrechte an den Inhalten der Zeitschriften. Die Rechte liegen in der Regel bei den Herausgebern.

Die auf der Plattform e-periodica veröffentlichten Dokumente stehen für nicht-kommerzielle Zwecke in Lehre und Forschung sowie für die private Nutzung frei zur Verfügung. Einzelne Dateien oder Ausdrucke aus diesem Angebot können zusammen mit diesen Nutzungsbedingungen und den korrekten Herkunftsbezeichnungen weitergegeben werden.

Das Veröffentlichen von Bildern in Print- und Online-Publikationen ist nur mit vorheriger Genehmigung der Rechteinhaber erlaubt. Die systematische Speicherung von Teilen des elektronischen Angebots auf anderen Servern bedarf ebenfalls des schriftlichen Einverständnisses der Rechteinhaber.

Haftungsausschluss

Alle Angaben erfolgen ohne Gewähr für Vollständigkeit oder Richtigkeit. Es wird keine Haftung übernommen für Schäden durch die Verwendung von Informationen aus diesem Online-Angebot oder durch das Fehlen von Informationen. Dies gilt auch für Inhalte Dritter, die über dieses Angebot zugänglich sind.

with each $\sigma_{j,v}^{(0)}(z)$ analytic, and $\sigma_{j,r}^{(0)}(z, \lambda)$ bounded. We shall show that the elements $\alpha_{j,v}^{(0)}(z)$ in (6.7) may be so specified as to yield

$$\sigma_{j,v}^{(0)}(z) \equiv \begin{cases} 1 & \text{when } (j, v) = (1, 0), \quad v = 0, 1, 2, \dots, (r-1) \\ 0 & \text{when } (j, v) \neq (1, 0). \end{cases} \quad (6.14)$$

The effect of this will be to give the formula (6.11) the form

$$m^*(\eta_i) = \lambda^q \left\{ v_i(z, \lambda) + \frac{1}{\lambda^r} \sum_{j=1}^p \lambda^{1-j} \sigma_{j,r}^{(0)}(z, \lambda) D^{j-1} v_i \right\}. \quad (6.15)$$

7. ANOTHER DETERMINATION OF COEFFICIENTS.

The dependence of the functions (6.12) upon the unspecified ones $\alpha_{j,v}^{(0)}(z)$ of (6.7) is advantageously set forth in terms of vector-matrix notation. To this end, let a column vector with the components φ_i , $i = 1, 2, \dots, p$, be denoted by (φ) and let the vector whose components are the terms in $1/\lambda^v$ of (φ) , namely with the components $\varphi_{i,v}$ $i = 1, 2, \dots, p$, be denoted by $(\varphi)_v$. Also let H designate the square matrix

$$H = \begin{bmatrix} \lambda^{-1}D & 0 & 0 & - & - & -\bar{\beta}_p \\ 1 & \lambda^{-1}D & 0 & - & - & -\bar{\beta}_{p-1} \\ 0 & 1 & \lambda^{-1}D & - & - & -\bar{\beta}_{p-2} \\ - & - & - & - & - & - \\ - & - & - & - & - & - \\ 0 & 0 & - & - & - & -\bar{\beta}_1 + \lambda^{-1}D \end{bmatrix} \quad (7.1)$$

the elements of which are in part functions of z and λ , and in part the indicated differential operator. Again let H_v designate the matrix that is obtainable from (7.1) by replacing its elements by their terms in $1/\lambda^v$. The relations (6.10) are then seen at once to take the form

$$(\alpha^{(k)}) = H(\alpha^{(k-1)}).$$

With iteration defined in the manner

$$H^{[k]}(\varphi) = H(H^{[k-1]}(\varphi)), \quad H^{[1]} = H, \quad (7.2)$$

and with $H^{[0]}$ signifying the unit matrix, it is then easily seen that

$$(\alpha^{(k)}) = H^{[k]}(\alpha^{(0)}). \quad (7.3)$$

The relation (6.12) may thus be written in the form

$$(\sigma^{(0)}) = J(\alpha^{(0)}), \quad (7.4)$$

with J standing for the matrix

$$J = \sum_{k=0}^q \bar{\gamma}_k H^{[q-k]}. \quad (7.5)$$

The evaluations

$$(\sigma^{(0)})_v = \sum_{j=0}^v J_j (\alpha^{(0)})_{v-j},$$

$$J_j = \sum_{k=0}^q \sum_{i=0}^j \bar{\gamma}_{k,i} H_{j-i}^{[q-k]},$$

evidently combine to yield the formula

$$(\sigma^{(0)})_v = \sum_{k=0}^q \sum_{j=0}^v \sum_{i=0}^j \bar{\gamma}_{k,i} H_{j-i}^{[q-k]} (\alpha^{(0)})_{v-j}. \quad (7.6)$$

In connection with this, certain observations are apropos. To begin with, the index value $j = 0$ implies $i = 0$, whereas by (6.5) and (4.1), $\bar{\gamma}_{k,0} = c_k(z)$. Further when $i = j$ the matrix $H_{j-i}^{[q-k]}$ reduces to precisely $K^{q-k}(z)$, with $K(z)$ as given in (3.3). On the basis of these facts the equation (7.6) may be arranged into the form

$$\sum_{k=0}^q c_k(z) K^{q-k}(z) (\alpha^{(0)})_v = (\sigma^{(0)})_v - \sum_{k=0}^q \sum_{j=1}^v \sum_{i=0}^j \bar{\gamma}_{k,i} H_{j-i}^{[q-k]} (\alpha^{(0)})_{v-j} \quad (7.7)$$

This is a vector equation for $(\alpha^{(0)})_v$, which we shall consider for successive values of v , assuming that the values (6.14) have been assigned.

When $v = 0$, the triple sum on the right of the equality in (7.7) vanishes, and the right-hand member is, therefore, the vector $(\sigma^{(0)})_0$ whose first component is 1 and whose other components are 0. The equation is therefore a non-homogeneous

one, and accordingly admits of an analytic solution for $(a^{(0)})_0$ provided the matrix multiplier of this vector on the left is non-singular. This condition is assured by the relation (3. 4).

Now we may proceed by induction. Assuming that the vectors $(a^{(0)})_j$ for $j = 1, 2, \dots, (v-1)$, have been determined and are analytic, the right-hand member of the equation (7. 7) is known. As in the case $v = 0$, so now, the equation is analytically solvable. The solutions for the successive values $v = 0, 1, 2, \dots, (r-1)$, yield the coefficients (6. 7) for which the functions $\eta_i(z, \lambda)$, as given by the formulas (6. 8), fulfill the relations (6. 5).

8. ON LINEAR INDEPENDENCE.

With the functions $a_j^{(0)}(z, \lambda)$ now at hand, we have at our disposal the n known functions $y_j(z, \lambda)$, $j = 1, 2, \dots, q$, which are the solutions of the differential equation (6. 3), and $\eta_i(z, \lambda)$, $i = 1, 2, \dots, p$, which are given by the formulas (6. 8). We shall show that these functions are linearly independent.

Let the Wronskians of the entire set and of the respective sub-sets be denoted respectively by W_n , $W_q(y)$ and $W_p(\eta)$. If the usual form

$$W_n = \begin{bmatrix} y_1 & - & - & - & y_q & \eta_1 & - & - & - & \eta_p \\ Dy_1 & - & - & - & Dy_q & D\eta_1 & - & - & - & D\eta_p \\ - & - & - & - & - & - & - & - & - & - \\ - & - & - & - & - & - & - & - & - & - \\ D^{n-1}y_1 & - & - & - & D^{n-1}y_q & D^{n-1}\eta_1 & - & - & - & D^{n-1}\eta_p \end{bmatrix} \quad (8. 1)$$

is modified by adding to each of the last p rows suitable multiples of the preceding ones, the formula can be made to appear thus

$$= \begin{bmatrix} y_1 & - & - & - & - & y_q & \eta_1 & - & - & - & \eta_p \\ Dy_1 & - & - & - & - & Dy_q & D\eta_1 & - & - & - & D\eta_p \\ - & - & - & - & - & - & - & - & - & - & - \\ D^{q-1}y_1 & - & - & - & - & D^{q-1}y_q & D^{q-1}\eta_1 & - & - & - & D^{q-1}\eta_p \\ m^*(y_1) & - & - & - & - & m^*(y_q) & m^*(\eta_1) & - & - & - & m^*(\eta_p) \\ Dm^*(y_1) & - & - & - & - & - & - & - & - & - & - \\ - & - & - & - & - & - & - & - & - & - & - \\ D^{p-1}m^*(y_1) & - & - & - & - & D^{p-1}m^*(y_q) & D^{p-1}m^*(\eta_1) & - & - & - & D^{p-1}m^*(\eta_p) \end{bmatrix} \quad (8. 2)$$